Divide by Positive Powers of Ten (B)

Find each quotient.

8,747 : 103 = 5,4:10% =
0,0472:103 = 5,6181: 102 =
2,3475: 103 = 2,738:10% =
3,38:10% = 5,55:10% =
7,198 : 102 = 0,192:10% =
1,61:10% = 0,8:10% =
2,259:10! = 4,218:10" =
4,299 :10' = 7,439 :10% =
6,7218: 10! = 0,76 : 10" =
6,29:10% = 1,8:10% =
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Divide by Positive Powers of Ten (B) Answers

Find each quotient.

8,747 : 10° = 0,008747 5,4:10°=0,0054
0,0472:10° = 0,0000472 5,6181:10%=0,056181
2,3475:10% = 0,0023475 2,738 :10°=0,002738
3,38:10°=0,00338 5,55:10° = 0,00555
7,198 :10°=0,07198 0,192:10%=0,00192
1,61:10°=0,00161 0,8:10°=0,0008
2,259:10' = 0,2259 4,218:10'=0,4218
4,299:10'=0,4299 7,439 :10° = 0,007439
6,7218:10'=0,67218 0,76:10*=0,076

6,29 :10%* = 0,0629 1,8:10*=0,018
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